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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
TS 1.00/ 0.00 ~ 7.00 88.75] #hLris 000 ~ 7.00] 255 12.90 ZThLLSE 1.00] 500 ~ 10.64 88.75| #h iyt | 500 ~ 10.64] 255 12.90
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
ZThLS 1.00] 000 ~ 543 67.78] #hList | 000 ~ 543] 185 9.33 Zhus 1.00] 500 ~ 6.09 67.78] Thils | 500 ~ 6.09] 1.85 9.33
1 100kN/mM##8Z % 1.00/ 000 ~ 285 145.14|3m%E#23| - ~ = = —| 100kN/M%#8 2% 1.00[ 10.76 ~ 23.89 14514|3m%i#BZ % -~ = = =
ZhLS 1.00] 2.85 ~ 10.64 100.00] #hList [0.00 ~ 10.64| 2.85 14.38 Zh LS 1.00] 500 ~ 10.76 100.00| Zhlist | 500 ~ 23.89| 285 14.38
4 100kN/mM#%# 8% % 1.00/ 000 ~ 286 145.34|3m%E#ZB| - ~ = = —| 100kN/M%#8 2% 1.00[ 1056 ~ 24.17 145.34|3m%i#BZ 5 -~ = = =
ZThLS 1.00] 2.86 ~ 10.65 100.00] #hList [0.00 ~ 10.65] 2.76 13.95 Zh LS 1.00] 500 ~ 1056 100.00| Zh it | 500 ~ 24.17| 276 13.95
5 100kN/mM#%# 8% % 1.00/ 000 ~ 274 143.28|3m#%E#ZB| - ~ = = —| 100kN/M%#8 2% 1.00| 10.67 ~ 22.88 143.28|3m%i#B% % -~ = = =
ZhLS 1.00] 2.74 ~ 1053 100.00] #hLi%t | 000 ~ 1053] 281 14.22 Zhus 1.00|] 5.00 ~ 1067 100.00| #hlust | 500 ~ 22.88| 2.81 14.22
6 100kN/mM#%#BZ % 1.00/ 000 ~ 3.72 160.46|3m%i#8% 5| 000 ~ 222| 402 20.33| 100kN/i%#8 2% 1.00| 1053 ~ 52.83 160.46|3m%i#B% 5| 25.00 ~ 52.83| 4.02 20.33
ZThLS 1.00]3.72 ~ 1151 100.00] #hList [ 222 ~ 1151| 3.00 15.16 Zh LS 1.00] 500 ~ 1053 100.00f #hlist | 500 ~ 25.00| 3.00 15.16
7 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lot 1.00] 0.00 ~ 5.70 71.28] zh st | 0.00 ~ 570] 1.92 9.69 Zh st 1.00f 500 ~ 6.78 7128 Zh st | 500 ~ 6.78] 1.92 9.69
8 100kN/mM##BZ 5 -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
ZnLst 1.00{ 0.00 ~ 3.10 39.79] #nList | 000 ~ 3.10| 2.63 13.27 Zhn st 1.00f 500 ~ 8.33 39.79| #n iyt | 500 ~ 8.33| 263 13.27
9 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
Zrn Lot 1.00{ 0.00 ~ 5.25 6541 ZnList | 000 ~ 525| 2.14 10.82 st 1.00f 500 ~ 7.54 6541 Zzhblls | 500 ~ 754 214 10.82
10 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
Zh LS -l -~ = -| #hiist -~ = = = LS = -~ = -| Ehiist = ~ = = =
11 100kN/mM##BZ 5 -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
Zh LS -l -~ = -| #hist -~ = = = Zh LS = -~ = -| Ehiist = ~ = = =
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zhst ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zhst ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhst ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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